1. a(y-3)+4(3-y) & 5=alotA?

D -(y+3)(a+4) @ (y+3)(a+4)
® a(y-3) @ -3)a-1)
® (y-3)(a+4)

a(y=3)+43-y) =a(y-3)-4(-3+y)
=(y-3)(a-4)




2. AX*-24xy +16y* = (3x + By)? & ™, A + B 9] gt& F5tof=t

> E

> Hg:. A+B=5
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Ax? — 24xy + 16y = (3x + By)? o| B2
(3x+ By)? & AT AL Ax? - 24xy + 16y2 9} Zolo} Gk,
(3x + By)? = 9x + 6Bxy + B?y?
= Ax? - 24xy + 16y?
A =901, 6B=-24 0|22 B = —4 oJt},
w2 A+ B =9+ (—-4) =5 o|tt.




3. -4 S RIeEelshH?

D (a-2b)? @) (a +26) (a-20)
® (a+Db)(a—4b) @ (a+2)(b-2)
® (a+2b)*

a2 — 4b? = a? - (2b)*
= (a+2b) (a - 2b)
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5.  xXPy-2xy+ 30?2 & AFESH A2

@xy(x +3y-2) @ (x-y)(x+3y)
® (2x-y)(x-3y) @ xy(x-3y-2)
® (x=y)(x—2y)

x2y — 2xy + 3xy® = xy(x + 3y - 2)
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> HE A=442
> HEfD A=-4V2

(x+ V82 =x2+4V2x+8
A=+42




7. H= T deEsivh et | 2422

@ 4a® - 2ab = 2a(a - b)

@ x? +20x— 100 = (x + 10)?
@ —x*+1=(x+1)(-x-1)
@ x?-Tx+12=(x-2)(x-6)

(@)wx2 +23x-21=(x+3)(10x-7)

@ 4a® - 2ab = 2a(2a - b)
®-x2+1=—-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)
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6x>+x-1=(2x+1)3x-1)
9x2—1=3Bx+1)(3x-1)

s dFE -1 0tk

3x2 +kx—-2=(3x-1)(x+2) =3x2 +5x-2
k=5
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3x% + (2k - 3)x — 65 UMt (3x - 1)(x + 6) ©]2tL
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(Bx—1)(x+6) =3x2+18x—x—6
=3x2+17x-6
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2k—-3 =17

S k=10
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® x+1,3x+1

@ x+6, 2x

@»x+3,h

® x+6,2x+3

@ x+3,2x+1

2x2 + 6x = 2x(x + 3)




11.

Y a2 a? - x 1 & AFRABE 1), ofe) BAeIA T A5t
=]
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B7]
@ x*+1 © x-1 © a+1
® x-2 @ a-1
® 9,0, 0 @ O, 3)O,®, ®
@ @0 ® ©, 6,06

a?x-a?-x+1=a*(x-1)-(x-1)
=(a+1)(a-1)(x-1)




12, 3<x<-29m, VaZ46x+9-2Va2 +4dx+4+ Va2 & 73}

HY
O -2x-1 @)2x + 7 3 -1
@ 4x+7 ® 4x-1

D ‘
VE+3)2-2/x 2?2+ Va2

=|x+ 3| = 2|x+ 2| + |x]

=x+3+2x+4—x

=2x+7




13.

TS F (2 4+ 4x)2 +3(x2 +4x) -4
Zro ™9

D x%+4x @ x-2

@ x> +4x+1 ® x> +4x+3

B

x? 4+ 4x =t 2 | &olH
243t—-4=(-1)(t+4)
= (2 +4x—1)(x% +4x+ 4)
= (% +4x-1)(x+2)2




14. x*+5xy+2x—5y -3 = ALE3|51H?

@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @(x—l)(x+5y~l—3)
® (x+1)(x=5y-3)

x? 4+ 5xy+2x—5y—3
= x% + (5y + 2)x — (5y + 3)
=(x+5y+3)(x-1)
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(2a — b)? - (2a + b)?
=(2a—b+2a+Db)(2a—b-2a-b)
= da x (—2b)

= —8ab




